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Topic 1 - Single Topic

Topic 1Question #1

Refer to the exhibit. All three of the conditions for the Choice router are true. What message processors are executed?

A. First

B. First, Default

C. First, Middle, Last

D. First, Middle, Last, Default

Correct Answer: C

Reference:

https://docs.mulesoft.com/mule-runtime/3.9/choice-flow-control-reference

  Gaurav_9412 1 year ago

A is correct it comes to the first correct option
upvoted 1 times

  Junpeng 2 years, 1 month ago

First exclude A option as it mentioned 'Processors'. But if C is correct, why not D?
upvoted 1 times

  JaimeMongay 2 years, 4 months ago

Selected Answer: A

A is correct
upvoted 2 times

  Ella_Z 2 years, 11 months ago

I think A is correct. because choice as similar as if/ else if / else, so if the first one is true, then it should do not go other branches.
upvoted 3 times

  PavelMule 3 years ago

I think C is incorrect. "Only one of the routes in the Choice router executes, meaning that the first expression that evaluates to true triggers that
route’s execution and the others are not checked. If none of the expressions are true, then the default route executes." from
https://docs.mulesoft.com/mule-runtime/4.3/choice-router-concept

upvoted 1 times

Community vote distribution

A (100%)
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Topic 1Question #2

Refer to the exhibits. A Mule application is configured to use the globalErrorHandler exception handler.

When the flow is executed, a request is made to a host that is currently offline and a Java exception is thrown with the message `Error sending

HTTP request to http://offline.bad:80/`.

What response is returned to a web client request to postToOfflineHostFlow's HTTP Listener?

A. AFTER

B. BEFORE

C. Error sending HTTP request to http://offline.bad:80/

D. GLOBAL ERROR

Correct Answer: C



Topic 1Question #3

Refer to the exhibits. The http:request has failed with a Tiemout exceeded error. What HTTP Request parameter must be modified to resolve this

error?

A. Client Certificate Timeout

B. Transaction Timeout

C. Connect Idle Timeout

D. Response Timeout

Correct Answer: D

Reference:

https://help.mulesoft.com/s/article/Getting-Error-sending-HTTP-request-when-sending-request-using-http-requester



Topic 1Question #4

Refer to the exhibit. What DataWeave expression transforms the input to the output?

A.

B.

C.

D.

Correct Answer: A

Reference:

https://blogs.mulesoft.com/dev/anypoint-platform-dev/weaving-it-with-dataweave-expression/



Topic 1Question #5

Refer to the exhibit. What is the output payload in the On Complete phase?

A. The records processed by all batch steps: [StepTwoStepOne1, StepTwoStepOne2, StepTwoStepOne3]

B. Summary statistics with NO record data

C. The original payload: [1,2,3]

D. The records processed by the last batch step: [StepTwo1, StepTwo2, StepTwo3]

Correct Answer: D

Reference:

https://docs.mulesoft.com/mule-runtime/4.2/batch-processing-concept

  vagni 9 months ago

in mule 4, its Summary statistics with NO record data
upvoted 2 times

https://www.examtopics.com/user/vagni/
https://www.examtopics.com/user/vagni/
https://www.examtopics.com/user/vagni/


Topic 1Question #6

Refer to the exhibits. What value is logged after a web client submits a request to http://localhost:8081/test?userName=Cindy?

A. null

B. Alice

C. Cindy

D. Bob

Correct Answer: A



Topic 1Question #7

Refer to the exhibits. What is the expected payload at the end of mainFlow?

A. KIWI

B. APPLE

C. Null

D. BANANA

Correct Answer: A



Topic 1Question #8

A RAML specification is defined to manage customers with a unique identifier for each customer record. What URI does Mulesoft recommend to

uniquely access the customer identified with the unique ID 1234?

A. /customers/1234

B. /customers?operation=get&custid=1234

C. /customers/custid=1234

D. /customers?custid=1234

Correct Answer: A

Reference:

https://dzone.com/articles/designing-api-with-raml

Topic 1Question #9

What valid RAML retrieves details on a specific order by its orderId as a URI parameter?

A.

B.

C.

D.

Correct Answer: D

Reference:

https://raml.org/developers/raml-100-tutorial

Currently there are no comments in this discussion, be the first to comment!



Topic 1Question #10

A Transform Message component receives the XML payload:

What is the DataWeave expression to output the orderId string `PO1234`?

A. payload.order.orderId

B. payload.orderId

C. payload.order.@orderId

D. payload.@orderId

Correct Answer: B

  mike_0 11 months ago

Selected Answer: C

orderId attributes of there order element in the XML
upvoted 1 times

  Junpeng 2 years, 1 month ago

Verified that the Correct answer is C.
upvoted 1 times

Community vote distribution

C (100%)

Topic 1Question #11

There are two types of accounts: personal and business. How can an accountType parameter be specified in RAML so

http://localhost/acme/accounts? accountType=personal is a valid request to the implementation?

A.

B.

C.

D.

Correct Answer: C

https://www.examtopics.com/user/mike_0/
https://www.examtopics.com/user/mike_0/
https://www.examtopics.com/user/mike_0/
https://www.examtopics.com/user/Junpeng/
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Topic 1Question #12

Refer to the exhibit. What should be changed to fix the 400 Bad Request error?

A. Set the request Content-Type header to application/json

B. Set the response Content-Type header to application/json

C. Set the response Content-Type in the RAML specification to text/plain

D. Set the request Content-Type header to text/plain

Correct Answer: A

Topic 1Question #13

Refer to the exhibit. The orders.csv file is read, then processed to look up the orders from the database. The Mule application is debugged in

Anypoint Studio and stops at the breakpoint. What is the payload shown in the debugger at this breakpoint?

A. ג€none

B. 100

C. The entire CSV file

D. The database response

Correct Answer: B

Reference:

https://docs.mulesoft.com/studio/7.4/mule-debugger-view-reference



Topic 1Question #14

In a RAML specification for a banking application, accounts, account_id, and transactions are identified as resources. What resource/method pair

retrieves transactions for a specific account_id?

A. GET /accounts/{account_id}/transactions

B. POST/accounts/{account_id}

C. GET/accounts/account_id

D. PUT/accounts/{account_id}/transactions/{transaction_id}

Correct Answer: A

Topic 1Question #15

Refer to the exhibits. How is the userName property passed to the outbound HTTP request?

A. URI parameter

B. Body

C. Query parameter

D. Header

Correct Answer: D



Topic 1Question #16

Refer to the exhibit. What is the payload at the end of the flow?

A. Bob Green

B. Bob Smith

C. Alice Green

D. Alice Smith

Correct Answer: C

  Shijokingo 6 months ago

Any thoughts or ref why it is not Alice Smith as Message enricher has Smith and Original payload is Alice?
upvoted 1 times

Topic 1Question #17

What authentication data is required to configure a Throttling `" SLA based policy in API Manager?

A. Client id and client secret

B. Oauth2.0 access token

C. X.509 client certificate and X.509 server certificate

D. Username and password

Correct Answer: A

Reference:

https://help.mulesoft.com/s/article/How-to-use-Basic-Authorization-header-with-Rate-Limiting-SLA-based-policy-in-Mule-4

https://www.examtopics.com/user/Shijokingo/
https://www.examtopics.com/user/Shijokingo/
https://www.examtopics.com/user/Shijokingo/


Topic 1Question #18

According to MuleSoft's point of view, how does Central IT enable the new IT operating model?

A. Distributes passwords to databases and backend systems to allow direct access by line of business developers to deliver faster

B. Combines and shares API specifications like a product to drive consumption by line of business developers

C. Invests in new cloud technology to enable Central IT to develop complete line of business applications faster

D. Builds all API implementations and restricts line of business developers from building implementations to save costs and enforce

standards

Correct Answer: B

Reference:

https://www.mulesoft.com/press-center/trends/create-value-api-economy

Topic 1Question #19

Refer to the exhibits. The parentFlow contains an HTTP Request in the middle of the flow. The HTTP Listeners and HTTP Request use default

configurations.

What values are accessible to the parent Logger at the end of parentFlow after a web client submits a request to http://localhost:8081/order?

color=red?

A. payload

B. payload quantity var

C. payload color query param

D. payload quantity var color query param

Correct Answer: B



Topic 1Question #20

Refer to the exhibit. What payload is logged at the end of the mainFlow?

A. [order1, order2, order3, order4]

B. [1,2,3,4]

C. [order4]

D. order4

Correct Answer: A

  nfortunengcobo 1 year, 8 months ago

Selected Answer: B

The answer is B
upvoted 1 times

  NyLz 2 years, 8 months ago

In mule 4 the awnser is "B".
upvoted 3 times

Community vote distribution

B (100%)
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https://www.examtopics.com/user/nfortunengcobo/
https://www.examtopics.com/user/nfortunengcobo/
https://www.examtopics.com/user/NyLz/
https://www.examtopics.com/user/NyLz/
https://www.examtopics.com/user/NyLz/


Topic 1Question #21

Refer to the exhibits. What is the root cause of the error?

A. The value of the host property ג€0.0.0.0ג€ is invalid

B. There are two HTTP Listener configurations bound to the same host

C. The value of the host property ג€0.0.0.0ג€ is bound to different ports

D. There are two HTTP Listener configurations bound to the same port number 8081

Correct Answer: C

  nfortunengcobo 1 year, 8 months ago

The answer id D. Can somone explain why C? Clearly the listeners are configured to the same port number.
upvoted 1 times

https://www.examtopics.com/user/nfortunengcobo/
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Topic 1Question #22

Refer to the exhibits. The Batch Job processes, filters, and commits records. What is the expected output from the Logger component when this

Mule application runs?

A. [2,4] [6]

B. [1,2,3,4,5,6]

C. [1,2] [3,4] [5,6]

D. [2,4,6]

Correct Answer: A

  nfortunengcobo 1 year, 8 months ago

Selected Answer: A

the answer is A
upvoted 1 times

Community vote distribution

A (100%)

https://www.examtopics.com/user/nfortunengcobo/
https://www.examtopics.com/user/nfortunengcobo/
https://www.examtopics.com/user/nfortunengcobo/


Topic 1Question #23

Refer to the exhibits. The parentFlow contains an HTTP Request. The HTTP Listeners and HTTP Request use default configurations.

What values are accessible in childFlow after a web client submits a request to http://localhost:8081/order?color=red?

A. payload

B. payload quantity var

C. payload color query param

D. payload quantity var color query param

Correct Answer: B

  Ella_Z 2 years, 11 months ago

A is correct.
In this case, it post request without query param, so C & D incorrect .
and then, attributes never move to child flow when using a HTTP Request connector. Only in case of Flow reference, so B is incorrect.

upvoted 3 times

  shreyavm 2 years, 11 months ago

it's wrong
upvoted 1 times

https://www.examtopics.com/user/Ella_Z/
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Topic 1Question #24

What three elements are used in RAML specifications?

(Choose three.)

A. Service

B. Method

C. Response

D. PortType

E. Resource

Correct Answer: BCE

Reference:

https://docs.mulesoft.com/api-manager/1.x/designing-your-api

  nfortunengcobo 1 year, 8 months ago

Selected Answer: BCE

B, C and E
upvoted 1 times

Community vote distribution

BCE (100%)

Topic 1Question #25

What is the uniform interface used by RESTful web services?

A. RPC

B. JMS

C. HTTP

D. SOAP

Correct Answer: C

Reference:

https://www.mulesoft.com/resources/api/what-is-rest-api-design

Topic 1Question #26

A Mule application has a single File connector configured. A flow in the Mule application has a File connector endpoint in the message source and

another File connector endpoint as a message processor in the flow. What is the behavior of these two components?

A. The source reads files and the processor writes files

B. The source and processor both read files

C. The source writes files and the processor reads files

D. The source and processor both write files

Correct Answer: C

https://www.examtopics.com/user/nfortunengcobo/
https://www.examtopics.com/user/nfortunengcobo/
https://www.examtopics.com/user/nfortunengcobo/


Topic 1Question #27

A Mule application is created with an HTTP inbound endpoint defined to receive custName and accountType as query parameters. The

accountType is captured using a Set Variable transformer with the same name. What is the correct MEL expression for logging accountType?

A. #[message.inboundProperties.accountType]

B. #[message.ג€http.query.params'.accountType]

C. #[flowVars.accountType]

D. #[message.outboundProperties.accountType]

Correct Answer: C

Reference:

https://dzone.com/articles/mule-3-variables-and-property-transformer

Topic 1Question #28

Refer to the exhibit. What is the correct syntax to add an employee ID as a URI parameter in the HTTP Listener path?

A. ${employeeID}

B. #[employeeID]

C. {employeeID}

D. (employeeID)

Correct Answer: B

Reference:

https://help.mulesoft.com/s/question/0D52T00004mXWrdSAG/uri-params-in-http-connector-mule4



Topic 1Question #29

Refer to the exhibit. What action will resolve the exception?

A. Create the accounts table in the database

B. Ensure the database is accessible

C. Implement org.apache.derby.jdbc.ClientDriver

D. Add a JDBC driver to the project's build path

Correct Answer: C


